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Q: Would the Leiomysarcoma be coded to Connective Tissue or Myometrium?

A: Myometrium C54.2
___________________________________________________________
Q: Are scalene nodes only in level IV nodes?

A: I’m not sure. I think they can also be level V.
________________________________________________________________
Q: Would accession number for question #1 Quiz 2 would be the same for all three cases?

A: Yes. Accession number does not change.
________________________________________________________________
Q: What was the answer to quiz 2, question #3?

A: In question 3 the patient was diagnosed by a staff physician (radiologist) and had all treatment at the reporting facility. This was class of case 12.
________________________________________________________________
Q: Quiz 2 #3 - what if the radiologist was employed by an independent imaging center at time the mammogram was read. Therefore, not affiliated or working for our facility?

A: If the radiologist was not on staff at the time the patient had been diagnosed, then Class of Case would have been 22.
________________________________________________________________
Q: Looking at Quiz 3 question #2 – is the decision not to treat a treatment? Should the answer be B?

A: In quiz 2 the patient was diagnosed at your facility. The patient was then referred to a non-staff physician. You are correct that the decision not to treat was the treatment plan. However, since that decision was not made at your facility and the physician making that decision was not on your staff, the class of case is 00.
________________________________________________________________
Q: Quiz 3 question #5 – what if the drug was from a different family is the entire regimen coded as 2nd course or just the single drug?

A: It is my understanding that if one drug from a different family is introduced, then all treatment afterwards is considered subsequent treatment. 
________________________________________________________________
Q: Quiz 3 question #6 – the text indicates 'patient opted not to have radiation' - therefore should not the answer be code 7 - answer C?

A: When a patient opts for one recommended treatment over another recommended treatment that is not a refusal.  
_______________________________________________________________
Q: On quiz 3 question 7 option A would there be no dx procedure for the patient? Would diagnostic procedure be left blank or 0?

A: If a patient has a colonoscopy and polypectomy, the procedure would be coded as surgery. It would not be coded as a diagnostic staging procedure.
 ________________________________________________________________
Q:  On quiz 3 question 7 option A why is the colostomy not considered palliative care?  It is neither diagnostic nor used for staging.

A: I would code it as both a diagnostic staging procedure and a palliative procedure. I look at the diagnostic staging procedure data item as a place to code surgical procedures that aren’t treatment.  A by-pass would fit into that category.
_______________________________________________________________
Q: Question #7 – isn’t colostomy more of a treatment option since patient already has known cancer, versus diagnostic staging?

A: That is one way to look at it. However, it’s not being done to lessen the burden of cancer. Therefore, I don’t think it should be coded as surgical treatment.
________________________________________________________________
Q: Quiz 3 question #7 quiz 3 – if we had more information, let's say patient had colonoscopy and was diagnosed with colon cancer that way and colostomy was done later.  Would we still code colostomy as part of diagnostic staging procedure?

A: I would. 
________________________________________________________________
Q: Quiz 3 question #7 – surgical dx & staging procedure code would be 03 for B, 02 for C and 04 for D?

A: Yes. Those are the codes I would assign.
_________________________________________________________
Q: Since there is no primary site given in question #9, how do we know it as a regional node?

A: Great point! I just assumed this was a lung primary. 
· C would be the correct answer for a lung primary. 
· Unknown (not even an option) would be the correct code if we don’t know the primary site.
________________________________________________________________
Q: When Radiation is recommended, and we choose 88 Radiation it creates many edits, as it requires Phase 1 fields need to be filled out, how would we actually complete these?

A: This is a known edit issue. It will be corrected with the next release.
________________________________________________________________


Q: Per the STORE – if both an incisional biopsy of the primary site and an incisional biopsy of a metastatic site are done, use code 02 (Incisional biopsy of primary site).

A: Thank you! 
_______________________________________________________________
Q: If a patient has primary with mets to the brain and they are only treating the brain mets palliatively, and not receiving any treatment to the primary, would the brain radiation only be coded to palliative care or would the radiation fields need to be completed as well?

A: Both.  Radiation is a treatment modality we collect regardless of whether it is being done for curative or palliative purposes. 
_______________________________________________________________
Q: Quiz 4 Question #10 – I would select histology rule H7, but that is not in the options. It is a single primary with one histology code.

A: The patient has single primary with multiple tumors. Therefore, we use the multiple tumor module. Rule H13 would apply (multiple tumors same histology).
________________________________________________________________
Q: Why can’t quiz 4 question #3 be C?

A:  Even though both histologies are on the same row, they are different subtypes. Therefore, rule M5 applies.  Different subtypes are different primaries regardless of whether they are in the same row or not. They put rule M5 before rule M11 to reflect this.
________________________________________________________________
Q: Shouldn't answer to question #3 be B M6 because they are on different rows?
 
A:  Rule M5 applies when we have different subtypes. It doesn’t matter if they are on the same row or different rows. 
________________________________________________________________
Q: Question #3 – how is Goblet Cell both a subtype of large cell NEC and a different subtype as shown in column 3?

A: Goblet cell is a subtype of Mixed adenoneuroendocrine carcinoma (see column 1). Large cell NEC is a subtype of Neuroendocrine carcinoma.  Goblet cell and Large Cell NEC are not subtypes of each other. Rule M5 applies because they are both subtypes. They don’t have to be subtypes of the same thing, just subtypes of something.

________________________________________________________________
Q: Quiz 4, question #3 – Lg cell neuroendocrine ca is listed as a synonym for Mixed adenoneuroendocrine ca 8244 and as a subtype for Neuroendocrine ca 8246 ... how do we decipher?

A: That is a formatting issue…The first synonym for Mixed adenoneuroendocrine ca 8244 is Adenocarcinoma mixed with high-grade large cell neuroendocrine carcinoma. The second is Adenocarcinoma mixed with high-grade small cell neuroendocrine carcinoma. I should have left a space between them, but I was trying to keep the table to just one page.
________________________________________________________________
Q: Question #3 – I think people are reading column 2 in the 8244 row as each line separate - not that the first 2 lines as one histology - so they read large cell neuroendocrine carcinoma as a separate. They need to bullet the synonyms that don’t fit on 1 line in the column.

A: I believe you are correct. Bullet points are a great suggestion!
________________________________________________________________
Q: What do we put if stated to be unstable but not high or low? This is done a lot on immunophenotyping tests and stated only to be unstable.

A: If you have access to your pathologist or physician ask them how to interpret the statement. If that is not an option, code to 9.  
________________________________________________________________
Q: Would you please clarify on quiz 2, question #3 – if it was outpatient, then why is it different?

A: I’m not sure how being an outpatient would make a difference. The patient was diagnosed by a staff physician. All treatment was done at the reporting facility. That would be class of case 12.

Q: The tumor cells show loss of expression of MLH1 and PMS2 DNA mismatch repair enzymes. These findings raised the possibility of Lynch syndrome (hereditary nonpolyposis colorectal cancer - HNPCC). Reflex testing for BRAF V600E mutation – this is all it says and stated to be unstable...what would you code MSI?

A: Loss of expression of MLH1 would make this a code 2. The discussion of lynch syndrome supports code 2.
________________________________________________________________
Q: Where are the instructions documented for Assigning Values for Non-Standard Ranges?

A: At this point they are only on the Canswer forum. They will be added to the SSDI manual when the next update is posted.
________________________________________________________________
Q: Our facility considers a H2N copy number >4 as pos.

A:  Thank you.
________________________________________________________________
Q: For HER2 I have also see D17S122 which is the name of the probe also for cen17

A: Correct. CEP 17, Centrome 17, CEN 17, D17S122 are all different names for a probe that counts chromosome 17 signals. A dual probe ratio is the ratio of Her 2 signals to chromosome 17 signals.

Q: Quiz 6 Case #2 - ER Allred score should be 08 (strong, 100%)?

A: Correct. The wording is awkward, but they are saying the average intensity is strong.
________________________________________________________________
Q: Quiz 6 question #3 – shouldn’t the DPCN be coded to XX.7, since a dual probe was performed? hence the ratio.

A: Yes! Good catch. 
________________________________________________________________
Q: Please help me understand why you would code SLNs Examined as 15 when No SLNs were identified?

A: That was an error on me. It should have been 00.

Q: Quiz 7 question #3, why isn't the number of SLN a 0/3 not 0/5, there were 2 non-sentinel LN removed?

A: We count the number of nodes removed during the sentinel node procedure. Not the number of nodes documented as sentinel nodes. Same for SLN positive. We code the number of positive nodes removed during the procedure. Not the number of positive sentinel nodes.
________________________________________________________________
Q: To put 00 in for radiation will require adding radiation record which will then require a date and location where given so why add the record at all?

A: I'm guessing some of that may be done in your software back ground. If you are able to pass edits without adding any of that info, your software is taking care of it automatically. 
________________________________________________________________
Q: For palliative care, if a patient received palliative radiation as first course, would this be coded in the radiation field?

A:  Yes. It would be coded in both palliative treatment and in the radiation fields.
________________________________________________________________
Q: Can you give an example of a chemo drug for the same site that is in a different family?

A: 5-fu is a chemo given for colon cancer. It is an antimetabolite. If 5-fu is stopped and the patient is put on Regorafenib, then the Regorafenib would be considered subsequent treatment. Regorafenib is a chemo, but it is a multi-kinase inhibitor. It is in a different family of chemo drugs.
________________________________________________________________
Q: I thought it was only going with a different treatment plan when the treatment plan offers other options. In question #6 there was only one treatment plan recommended and she opted to only get the chemo and surgery. Would that not be refusal?

A: There were two treatment plans. She could either go with breast sparing mastectomy, radiaton, and chemo or she could go with modified radical mastectomy and chemo. She chose the second option.
_______________________________________________________________
Q: For the CEA, if the patient has a colonoscopy with bx and then they have the CEA can we use it?

A: Yes. As long as the CEA was done before surgery or some other type of treatment.
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